Procurement Division 2800 S.W. 72ND AVENUE MIAMI, FLORIDA 33155

August 5, 2025

All Responding Bidders (See Distribution List)

SUBJECT: IFB 2025-026 Citywide Drainage Improvements

Dear Bidders:

The evaluation of the bids submitted in response to the above cited solicitation is complete. The City Manager has recommended an award as shown in the attached document.

This notice is provided in accordance with Section 2-910 (c) of the Code of the City of Coral Gables. Our provision of this notice also serves to confirm the lifting of the Cone of Silence from this procurement action as dictated by Section 2-1027 (4)(b) of the same City Code.

Thank you for your participation in this competition. If you have any questions please contact Michael Angrand, Procurement Specialist at 305-460-5103 or <a href="mailto:

Sincerely,

Celeste S. Digitally signed by Celeste S. Walker-Harmon Date: 2025.08.05 17:26:02 -04'00'

Celeste S. Walker-Harmon Chief Procurement Officer

Attachment: Award Recommendation

Distribution List: David Mancini & Sons, Inc.

DIRTT Environmental Solutions, Inc.

FG Construction, LLC

GPE Engineering & General Contractor Corp.

Metro Express, Inc.

CITY OF CORAL GABLES

-MEMORANDUM-

TO: Honorable Mayor, Vice-Mayor,

and members of the City Commission

DATE: August 4, 2025

FROM: Peter J. Iglesias, P.E.

City Manager

Peter J. Iglesias Digitally signed by Peter J. Iglesias Date: 2025.08.05 16:58:51 -04'00'

SUBJECT: Award Recommendation IFB 2025-026 – Citywide Drainage

Improvements

At the next available City Commission meeting an award recommendation for IFB 2025-026, Citywide Drainage Improvements will be included on the agenda. This memorandum serves to notify you that in accordance with Section 2-763 of the City Code entitled "Contract Award", my recommendation for award of the subject IFB is as follows:

- 1) Accept the Chief Procurement Officer's recommendation to award GPE Engineering and General Contractor Corp. (Primary) and FG Construction, LLC (Secondary), as the two responsive and responsible bidders, for Citywide Drainage Improvements.
- 2) Execute a contract with FG Construction, LLC and GPE Engineering and General Contractor Corp., for an initial period of two (2) years with options to renew for three (3) additional one (1) year periods.
- 3) Reaffirm the city's right to pursue alternative courses of action if necessary.

On June 23, 2025, the Procurement Division of Finance formally advertised, issued and distributed IFB 2025-026 Citywide Drainage Improvements. Two hundred and three (203) prospective bidders were notified through INFOR, the City's web-based e-Procurement system.

Four (4) bids were received on July 22, 2025, in response to the IFB: David Mancini & Sons, Inc., FG Construction, LLC, GPE Engineering & General Contractor Corp., Inc., and Metro Express, Inc.

The responses were reviewed by the Procurement Division to determine responsiveness to the requirements of the IFB. Once this step was completed, Public Works conducted an evaluation of the submittals identified by Procurement and found the bids to be in conformance with the City's bid requirements.

The Procurement Division finalized its' due diligence process and confirmed that FG Construction LLC and GPE Engineering & General Contractor Corp., were both responsive to the requirements of the IFB and are responsible firms. See attached Tabulation of Bids received.

A more detailed description of the IFB, response, and bid tabulation will be provided to you as part of the Agenda package.

This recommendation notice is being provided in accordance with Section 2-910 (c) of the Procurement Code of the City of Coral Gables. Our provision of this notice also serves to confirm

the lifting of the Cone of Silence from this procurement action as dictated by Section 2-1027 (4)(b) of the same City Code.

Please contact me should you have any questions.

Copy:

Cristina M. Suárez, City Attorney
Billy Y. Urquia, City Clerk
Jose Gómez, Deputy City Manager
Hermes Diaz, Public Works Director
Diana M. Gomez, Finance Director
Celeste S. Walker-Harmon, Chief Procurement Officer



City of Coral Gables, Florida Bid Tabulation

Bid Title: Citywide Drainage Improvements Bid Opening Date: July 22, 2025 @ 2:00 PM Prepared by: Michael Angrand	
Prepared by: Michael Angrand	

			En - *			Second Lowest R	esponsive and Responsible Bidder	Lowest Respo	onsive and Responsible Bidder		
NDOR NAME				David	Mancini & Sons, Inc	FG (Construction, LLC.	GPE Engineerin	g & General Contractor Corp	Met	tro Express, Inc
Vendor FEIN Corporation Address/ Locations (County & State): Local Preference Affirmed? Local 5% Preference Applicable?		12 E 18 1 E 18			27-3716806		30-0684928	k	59-1963236		65-0711071
				2601 Wiles Road Pompano Beach, FL,33073 N/A			701 NW 55th Ct. marac, FL,33309		PO Box 4582	9390	NW 109th Street
						N/A			ialeah, FL,33014 N/A	Medley, FL,33178 N/A	
ral Gables/ Miami-C ndor Contact (for th					N/A		N/A		N/A		N/A
idor Contact Phone	•	100			avid Mancini Jr		Michael Grillo	,	Antonio Reyes	De	lio Trasobares
dor Contact Email					954-977-3556 bids@dmsi.co		954-766-4053		305-828-5307 EXT. 100		05-885-1330
ITEM NO.	DESCRIPTION	QUANTITY	UNIT OF MEASURE	UNIT PRICE	TOTAL		FGConstruction.com		m@gpeend.com	info@me	troexpresscorp.com
1	110-1-1 CLEARING AND GRUBBING	10,000			-/ :	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
2	110-4 REMOVAL OF EXISTING MISC CONCRET	10,000	SQF-	\$4.00	\$40,000.00	\$16.00	\$160,000.00	\$1.00	\$10,000.00	\$3.50	\$35,000.0
3	REMOVAL OF EXISTING CONCRETE SIDEWALK	100	СВУ	\$366.00	\$36,600.00	\$180.00	\$18,000.00	\$40.54	\$4,054.00	\$175.00	\$17,500.0
4		2,500	SQF	\$6.00	\$15,000.00	\$6.75	\$16,875.00	\$5.00	\$12,500.00	\$3.00	\$7,500.00
	REMOVAL OF EXISTING CONCRETE CURB & GUTTER	1,100	LINF	\$13.00	\$14,300.00	\$24.00	\$26,400.00	\$7.00	\$7,700.00	\$6.00	\$6,600.00
5	110-23-2 TREE REMOVAL, >=4.5" to <=12" DIAMETER AT BREAST HE	10	EA	\$554.00	\$5,540.00	\$850.00	\$8,500.00	\$1,350.00	\$13,500.00	\$1,500.00	\$15,000.00
6	120-1 REGULAR EXCAVATION	400	СВУ	\$132.00	\$52,800.00	\$51.00	\$20,400.00	\$15.00	\$6,000.00	\$45.00	
7	121-70 FLOWABLE FILL	30	СВУ	\$42.00	\$1,260.00	\$300.00	\$9,000.00	\$200.00			\$18,000.00
8	161-1 STANDARD SWALE RESTORATION	30,000	SQF	\$3.00	\$90,000.00	\$1.50	\$45,000.00		\$6,000.00	\$300.00	\$9,000.00
9	161-3 ROCK DRAIN SWALE TRENCH, INSTALL	1,200	SQF	\$6.00	\$7,200.00	+		\$1.50	\$45,000.00	\$3.00	\$90,000.00
10	161-4 TRASH PIT RESTORATION	100	СВУ			\$20.00	\$24,000.00	\$5.00	\$6,000.00	\$10.00	\$12,000.00
11	210-1-9 REWORK LIMEROCK BASE, 3"		-	\$187.00	\$18,700.00	\$400.00	\$40,000.00	\$200.00	\$20,000.00	\$800.00	\$80,000.00
		750	SQY	\$56.00	\$42,000.00	\$70.00	\$52,500.00	\$15.83	\$11,872.50	\$27.00	\$20,250.00
	210-2-6 LIMEROCK, LBR 40, NEW MATERIAL FOR BASE, 6"	. 50	SQY	\$208.00	\$10,400.00	\$100.00	\$5,000.00	\$50.00	\$2,500.00	\$45.00	\$2,250.00
13	210-2-8 LIMEROCK, LBR 40, NEW MATERIAL FOR BASE, 8"	50	SQY	\$214.00	\$10,700.00	\$120.00	\$6,000.00	\$55.00	\$2,750.00	\$50.00	\$2,500.00
14	327-70-1 MILLING EXIST ASPH PAVT, 1" AVG DEPTH	10,000	SQY	\$6.50	\$65,000.00	\$5.00	\$50,000.00				
15	327-70-47 MILLING EXIST ASPH PAVT, ADDITIONAL 1" AVG DEPTH	3,000	SQY	\$7.00	\$21,000.00	\$4.00		\$5.00	\$50,000.00	\$6.00	\$60,000.00
16	334-1-12 SUPERPAVE ASPHALTIC CONC, TRAFFIC B, SP 9.5	800	TON	\$250.00	\$200,000.00	 	\$12,000.00	\$2.00	\$6,000.00	\$3.00	\$9,000.00
17	339-1 MISCELLANEOUS ASPHALT PAVEMENT	40	TON	+		\$225.00	\$180,000.00	\$235.00	\$188,000.00	\$250.00	\$200,000.00
			LION	\$672.00	\$26,880.00	\$300.00	\$12,000.00	\$350.00	\$14,000.00	\$250.00	\$10,000.00

18	425-1-1 DRAINAGE STRUCTURE, D-1	5	EA	\$6,367.00	\$31,835.00	\$2,000.00	\$10,000.00	\$4,000.00	£20,000,00	65,000,00	1 4
19	425-1-2 DRAINAGE STRUCTURE, D-3	80	EA	\$6,500.00	\$520,000.00	\$2,000.00		-	\$20,000.00	\$5,000.00	\$25,000.00
20	425-1-3 DRAINAGE STRUCTURE, D-4	40	EA	\$7,000.00		+	\$160,000.00	\$4,500.00	\$360,000.00	\$6,500.00	\$520,000.00
21	425-1-4 DRAINAGE STRUCTURE, D-5				\$280,000.00	\$2,500.00	\$100,000.00	\$5,500.00	\$220,000.00	\$7,500.00	\$300,000.00
22		5	EA	\$7,500.00	\$37,500.00	\$2,750.00	\$13,750.00	\$7,200.00	\$36,000.00	\$9,000.00	\$45,000.00
	425-1-5 DRAINAGE STRUCTURE, D-6	5	EA	\$8,000.00	\$40,000.00	\$3,000.00	\$15,000.00	\$8,922.16	\$44,610.80	\$9,500.00	\$47,500.00
23	425-1-8 DRAINAGE STRUCTURE, OFFSET STRUCTURE	5	EA	\$8,100.00	\$40,500.00	\$3,500.00	\$17,500.00	\$10,000.00	\$50,000.00	\$3,500.00	\$17,500.00
24	425-4-1 CONSTRUCT ASPHALT APRON	1,000	SQF	\$39.00	\$39,000.00	\$5.00	\$5,000.00	\$40.00	\$40,000.00	\$36.00	\$36,000.00
25	425-5 ADJUST MANHOLES, RISER RINGS	10	EA	\$1,583.00	\$15,830.00	\$750.00	\$7,500.00	\$400.00	\$4,000.00	\$750.00	\$7,500.00
26	425-5-2 ADJUST INLET/ MANHOLES, BRICKS & MORTAR	10	EA	\$1,583.00	\$15,830.00	\$2,500.00	\$25,000.00	\$1,000.00	\$10,000.00	\$1,800.00	\$18,000.00
	425-6 ADJUST VALVE BOX	10	EA	\$1,108.00	\$11,080.00	\$1,000.00	\$10,000.00	\$300.00	\$3,000.00	\$1,800.00	\$18,000.00
28	425-7-1 REMOVE INLETS & MANHOLES RING & COVER/FRAME & GRATE	5	EA	\$899.00	\$4,495.00	\$2,000.00	\$10,000.00	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00
29	425-8 ADJUST MISCELLANEOUS STRUCTURES	10	EA	\$554.00	\$5,540.00	\$2,500.00	\$25,000.00	\$1,500.00	\$15,000.00	\$3,500.00	\$35,000.00
30	425-11-1 SAWCUT, CORE DRILL, & MODIFY EXISTING DRAINAGE STRU	10	EA	\$3,891.00	\$38,910.00	\$3,500.00	\$35,000.00	\$1,500.00	\$15,000.00	\$1,000.00	\$10,000.00
31	425-11-2 NEW CONNECTION TO SLAB COVERED DITCH	10	EΑ	\$1,974.00	\$19,740.00	\$1,000.00	\$10,000.00	\$1,667.34	\$16,673.40	\$7,500.00	\$75,000.00
32	425-11-3 AUGER HOLE ABANDONMENT	5	EA	\$6,700.00	\$33,500.00	\$1,000.00	\$5,000.00	\$636.39	\$3,181.95	\$2,000.00	\$10,000.00
33	425-14-101 GRATE FOR EXISTING DRAINAGE STRUCTURE, F&I, USF 2	5	EA	\$2,658.00	\$13,290.00	\$900.00	\$4,500.00	\$846.93	\$4,234.65	\$2,000.00	
34	425-14-102 GRATE FOR EXISTING DRAINAGE STRUCTURE, F&I, USF 2	5	EA	\$2,302.00	\$11,510.00	\$1,000.00	\$5,000.00	\$1,012.08	\$5,060.40		\$10,000.00
35	425-14-103 GRATE FOR EXISTING DRAINAGE STRUCTURE, F&I, USF 4	5	EA	\$2,569.00	\$12,845.00	\$1,100.00	\$5,500.00	\$701.42	\$3,507.10	\$2,000.00	\$10,000.00
36	425-14-104 GRATE FOR EXISTING DRAINAGE STRUCTURE, F&I, USF 4	5	EA	\$2,658.00	\$13,290.00	\$1,200.00	\$6,000.00	\$735.17		\$2,000.00	\$10,000.00
37	425-14-105 GRATE FOR EXISTING DRAINAGE STRUCTURE, F&I, USF 4	5	EA	\$2,925.00	\$14,625.00	\$1,300.00	\$6,500.00	\$691.71	\$3,675.85	\$2,000.00	\$10,000.00
38	425-14-106 GRATE FOR EXISTING DRAINAGE STRUCTURE, F&I, USF 4	5	EA	\$2,569.00	\$12,845.00	\$1,400.00	\$7,000.00		\$3,458.55	\$2,000.00	\$10,000.00
39	425-14-107 GRATE FOR EXISTING DRAINAGE STRUCTURE, F&I, USF 5	5	EA	\$2,480.00	\$12,400.00	\$1,500.00		\$730.20	\$3,651.00	\$2,000.00	\$10,000.00
40	425-14-108 GRATE FOR EXISTING DRAINAGE STRUCTURE, F&I, USF 5	5	EA	\$3,102.00			\$7,500.00	\$1,130.05	\$5,650.25 ————————————————————————————————————	\$2,000.00	\$10,000.00
41	425-14-110 GRATE FOR EXISTING DRAINAGE STRUCTURE, F&I, USF 5				\$15,510.00	\$1,600.00	\$8,000.00	\$1,069.20	\$5,346.00	\$2,000.00	\$10,000.00
42	425-14-112 GRATE FOR EXISTING DRAINAGE STRUCTURE, F&I, USF S	5	EA	\$2,445.00	\$12,225.00	\$1,700.00	\$8,500.00	\$659.42	\$3,297.10	\$2,000.00	\$10,000.00
		5	EA	\$3,369.00	\$16,845.00	\$1,800.00	\$9,000.00	\$953.72	\$4,768.60	\$2,000.00	\$10,000.00
.43	425-14-114 VERTICAL GRATE HOOD RETROFIT	100	EA	\$1,000.00	\$100,000.00	\$1,500.00	\$150,000.00	\$565.30	\$56,530.00	\$3,000.00	\$300,000.00
44	425-17-24 POLLUTION BAFFLE/SKIMMER, FOR PIPES <= 24"	50	EA	\$1,031.00	\$51,550.00	\$1,500.00	\$75,000.00	\$500.00	\$25,000.00	\$1,000.00	\$50,000.00
45	425-74-1 EXISTING MANHOLES & INLETS CLEANING	25	EA	\$4,000.00	\$100,000.00	\$600.00	\$15,000.00	\$482.94	\$12,073.50	\$1,500.00	\$37,500.00
	430-17-112 NON-PERFORATED HDPE PIPE, ROUND, 12"	200	LINF	\$168.00	\$33,600.00	\$75.00	\$15,000.00	\$75.00	\$15,000.00	\$165.00	\$33,000.00
47	430-17-115 NON-PERFORATED HDPE PIPE, ROUND, 15"	1,000	LINF	\$170.00	\$170,000.00	\$100.00	\$100,000.00	\$80.00	\$80,000.00	\$175.00	\$175,000.00
48	430-17-118 NON-PERFORATED HDPE PIPE, ROUND, 18"	500	LINF	\$190.00	\$95,000.00	\$125.00	\$62,500.00	\$100.00	\$50,000.00	\$185.00	
49	430-17-124 NON-PERFORATED HDPE PIPE, ROUND, 24"	500	LINF	\$221.00	\$110,500.00	\$160.00	\$80,000.00	\$115.00	\$57,500.00	\$165.00	\$92,500.00

50	430-17-130 NON-PERFORATED HDPE PIPE, ROUND, 30"	100	LINF	\$230.00	\$23,000.00	\$250.00	\$25,000.00	\$150.00	\$15,000.00	\$240.00	\$24,000.00
51	430-17-136 NON-PERFORATED HDPE PIPE, ROUND, 36"	100	LINF	\$250.00	\$25,000.00	\$400.00	\$40,000.00	\$150.00	\$15,000.00	\$250.00	\$25,000.00
52	430-94-1 DESILTING PIPE, UP TO 24"	1,300	LINF	\$16.00	\$20,800.00	\$25.00	\$32,500.00	\$9.00	\$11,700.00	\$25.00	\$32,500.00
53	430-94-2 DESILTING PIPE, >24" - 36"	200	LINF	\$32.00	\$6,400.00	\$40.00	\$8,000.00	\$25.00	\$5,000.00	\$40.00	
54	430-94-6 DESILTING SLAB COVERED DITCH	1,500	LINE	\$34.00	\$51,000.00	\$50.00	\$75,000.00	\$9.00	\$13,500.00	\$350.00	\$8,000.00
55	430-830 PIPE GROUT FILLING AND PLUGGING- PLACE OUT OF SERVIC	25	СВУ	\$317.00	\$7,925.00	\$1,000.00	\$25,000.00	\$174.11	\$4,352.75	\$300.00	\$525,000.00 \$7,500.00
56	430-835-1 PLUG EXISTING PIPE, <=24"	12	EA	\$3,521.00	\$42,252.00	\$800.00	\$9,600.00	\$404.01	\$4,848.12	\$1,000.00	\$12,000.00
57	430-835-2 PLUG EXISTING PIPE, >24"	5	EΑ	\$4,752.00	\$23,760.00	\$2,000.00	\$10,000.00	\$731.66	\$3,658.30	\$1,500.00	
58	430-836-1 EXISTING DRAINAGE PIPE, REMOVE, <=18"	100	LINF	\$83.00	\$8,300.00	\$100.00	\$10,000.00	\$20.00	\$2,000.00	\$1,300.00	\$7,500.00
59	430-836-2 EXISTING DRAINAGE PIPE, REMOVE, 24"-36"	5	LINF	\$88.00	\$440.00	\$150.00	\$750.00	\$50.00	\$250.00	\$100.00	\$10,000.00 \$500.00
60	430-837-1 EXISTING DRAINAGE STRUCTURE, REMOVE, <= 10' DEPTH	5	EA	\$2,720.00	\$13,600.00	\$2,500.00	\$12,500.00	\$547.17	\$2,735.85	\$1,000.00	
61	430-837-2 EXISTING DRAINAGE STRUCTURE, REMOVE, >10' DEPTH	5	EA	\$2,894.00	\$14,470.00	\$4,000.00	\$20,000.00	\$1,028.29	\$5,141.45	\$1,000.00	\$5,000.00 \$5,000.00
62	430-855-24 HINGED MANATEE GATE, PIPES >24"-36"	5	EA	\$5,000.00	\$25,000.00	\$3,000.00	\$15,000.00	\$4,046.67	\$20,233.35	\$10,000.00	
63	443-70-2 FRENCH DRAIN WITH PERFORATED 15" HDPE PIPE	250	LINF	\$290.00	\$72,500.00	\$175.00	\$43,750.00	\$250.00	\$62,500.00		\$50,000.00
64	443-70-3 FRENCH DRAIN WITH PERFORATED 18" HDPE PIPE	1,500	LINF	\$300.00	\$450,000.00	\$250.00	\$375,000.00	\$270.00	\$405,000.00	\$275.00	\$68,750.00
65	443-70-4 FRENCH DRAIN WITH PERFORATED 24" HDPE PIPE	250	LINF	\$310.00	\$77,500.00	\$350.00	\$87,500.00	\$310.00	\$77,500.00	\$300.00	\$450,000.00
66	520-1-10-1 CONCRETE CURB & GUTTER, TYPE F, CORAL GABLES BEIG	3,000	LINF	\$40.00	\$120,000.00	\$60.00	\$180,000.00	\$40.00	\$120,000.00	\$350.00 \$45.00	\$87,500.00
67	520-1-10-3 REINFORCED CONCRETE CURB & GUTTER, TYPE F, CORAL	100	LINF	\$45.00	\$4,500.00	\$80.00	\$8,000.00	\$45.00	\$4,500.00		\$135,000.00
68	520-2-4-11 CONCRETE CURB, TYPE D, 6" X 18", CORAL GABLES BEI	400	LINF	\$40.00	\$16,000.00	\$50.00	\$20,000.00	\$25.00		\$75.00	\$7,500.00
69	520-2-4-14 REINFORCED CONCRETE CURB, TYPE D, 6" X 18", CORAL	100	LINF	\$45.00	\$4,500.00	\$65.00			\$10,000.00	\$45.00	\$18,000.00
70	520-3-1 VALLEY GUTTER- CONCRETE, CORAL GABLES BEIGE	200	LINF	\$62.00		 	\$6,500.00	\$30.00	\$3,000.00	\$75.00	\$7,500.00
71	522-1-6 CONCRETE SIDEWALK, 4" THICK, CORAL GABLES BEIGE	 			\$12,400.00	\$50.00	\$10,000.00	\$40.00	\$8,000.00	\$45.00	\$9,000.00
72	522-1-7 CONCRETE SIDEWALK, 4" THICK WITH FIBER MESH, CORAL G	5,000	SQF	\$10.00	\$50,000.00	\$12.00	\$60,000.00	\$7.00	\$35,000.00	\$12.00	\$60,000.00
73	522-2-7 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK WITH FIBER	5,000	SQF	\$10.50	\$52,500.00	\$13.00	\$65,000.00	\$7.25	\$36,250.00	\$12.00	\$60,000.00
74	526-1-2 RESET OR REPLACE EXISTING MUD SET ROADWAY PAVERS (PA	500	SQF	\$19.00	\$9,500.00	\$15.00	\$7,500.00	\$8.00	\$4,000.00	\$16.00	\$8,000.00
75	526-1-3 RESTORE EXISTING DECORATIVE DRIVEWAY APPROACH	330	SQF	\$17.00	\$5,610.00	\$15.00	\$4,950.00	\$8.25	\$2,722.50	\$16.00	\$5,280.00
76	526-2-1 PAVERS, CONCRETE, SIDEWALK	1,000	SQF	\$33.00	\$33,000.00	\$30.00	\$30,000.00	\$10.00	\$10,000.00	\$25.00	\$25,000.00
		1,000	SQF	\$24.00	\$24,000.00	\$18.00	\$18,000.00	\$10.00	\$10,000.00	\$25.00	\$25,000.00
	526-2-2 RESET OR REPLACE EXISTING SIDEWALK PAVERS ON SAND (P	300	SQF	\$24.00	\$7,200.00	\$15.00	\$4,500.00	\$7.00	\$2,100.00	\$25.00	\$7,500.00
78	527-2 DETECTABLE WARNINGS	100	SQF	\$64.00	\$6,400.00	\$50.00	\$5,000.00	\$25.00	\$2,500.00	\$50.00	\$5,000.00
79	5720-2-1 PERFORMANCE TURF, SOD - ST AUGUSTINE FLORATAM	15,000	SQF	\$2.00	\$30,000.00	\$1.50	\$22,500.00	\$1.00	\$15,000.00	\$3.00	\$45,000.00
	570-2-2 PERFORMANCE TURF, SOD - ST AUGUSTINE PALMETTO	1,000	SQF	\$3.00	\$3,000.00	\$2.00	\$2,000.00	\$2.00	\$2,000.00	\$3.00	\$3,000.00
81	581-1-5 RELOCATE TREES AND PALMS, TREES, TREES, >=4.5" to <=	10	EA	\$1,500.00	\$15,000.00	\$3,000.00	\$30,000.00	\$2,500.00	\$25,000.00	\$3,000.00	\$30,000.00

82	582-2-1 SEED & MULCH, CYPRESS	400	SQF	\$4.00	\$1,600.00	\$12.00	\$4,800.00	\$3.00	\$1,200.00	\$5.00	42.000.00
83	582-2-2 SEED & MULCH, EUCALYPTUS	400	SQF	\$4.00	\$1,600.00	\$12.00	\$4,800.00	\$3.00	\$1,200.00	-	\$2,000.00
. 84	700-1-11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	10	SET	\$633.00	\$6,330.00	\$1,200.00	\$12,000.00	\$750.00	\$7,500.00	\$5.00	\$2,000.00
85	700-1-40 SINGLE POST SIGN, INSTALL	5	SET	\$159.00	\$795.00	\$400.00	\$2,000.00	\$500.00	\$2,500.00	\$900.00	\$9,000.00
86	700-1-50 SINGLE POST SIGN, RELOCATE	50	SET	\$238.00	\$11,900.00	\$500.00	\$25,000.00	\$350.00	\$17,500.00	\$900.00	\$4,500.00
87	700-1-60 SINGLE POST SIGN, REMOVE	5	SET	\$159.00	\$795.00	\$200.00	\$1,000.00	\$200.00	\$1,000.00	\$350.00	\$17,500.00
88	706-1-1 RAISED PAVEMENT MARKER, TYPE B (YELLOW, RED, BLUE)	1,100	EA	\$12.00	\$13,200.00	\$10.00	\$11,000.00	\$8.00	\$8,800.00	\$8.00	\$1,250.00
89	710-11-121 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID	3,000	LINF	\$3.00	\$9,000.00	\$2.00	\$6,000.00	\$1.75	\$5,250.00	\$1.00	\$8,800.00
90	710-11-122 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID	150	LINF	\$3.00	\$450.00	\$2.50	\$375.00	\$5.00	\$750.00	\$1.00	\$3,000.00
91	710-11-123 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID	600	LINF	\$3.00	\$1,800.00	\$3.00	\$1,800.00	\$3.50			\$187.50
92	710-11-124 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID	150	LINF	\$4.00	\$600.00	\$4.00	\$600.00		\$2,100.00	\$2.00	\$1,200.00
93	710-11-125 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID	3,000	LINF	\$5.00	\$15,000.00	\$6.00	\$18,000.00	\$5.00	\$750.00	\$3.00	\$450.00
94	710-11-126 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID	450	LINF	\$2.00	\$900.00	\$5.00		\$5.00	\$15,000.00	\$4.00	\$12,000.00
95	710-11-131 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SKIP,	3,000	LINF	\$3.00	\$9,000.00	\$4.00	\$2,250.00	\$3.00	\$1,350.00	\$2.00	\$900.00
96	710-11-160 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, MESSA	5	EA	\$214.00	\$1,070.00		\$12,000.00	\$2.00	\$6,000.00	\$2.00	\$6,000.00
97	710-11-170 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, ARROW	40	EA	\$206.00		\$150.00	\$750.00	\$400.00	\$2,000.00	\$300.00	\$1,500.00
98	710-11-190 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, ISLAN	15			\$8,240.00	\$175.00	\$7,000.00	\$100.00	\$4,000.00	\$300.00	\$12,000.00
99	710-11-201 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLI	 	SQF	\$9.00	\$135.00	\$30.00	\$450.00	\$20.00	\$300.00	\$75.00	\$1,125.00
100		3,000	LINF	\$3.00	\$9,000.00	\$2.00	\$6,000.00	\$1.75	\$5,250.00	\$1.00	\$3,000.00
	710-11-202 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLI	150	LINF	\$3.00	\$450.00	\$2.50	\$375.00	\$5.00	\$750.00	\$1.25	\$187.50
101	710-11-203 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLI	600	LINE	\$3.00	\$1,800.00	\$3.00	\$1,800.00	\$3.00	\$1,800.00	\$2.00	\$1,200.00
102	710-11-224 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLI	150	LINF	\$4.00	\$600.00	\$4.00	\$600.00	\$7.00	\$1,050.00	\$3.00	\$450.00
103	710-11-225 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLI	1,500	LINF	\$5.00	\$7,500.00	\$5.00	\$7,500.00	\$5.00	\$7,500.00	\$4.00	\$6,000.00
104	710-11-226 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLI	450	LINF	\$2.00	\$900.00	\$5.00	\$2,250.00	\$3.00	\$1,350.00	\$5.00	\$2,250.00
105	710-11-231 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SKIP	3,000	LINF	\$3.00	\$9,000.00	\$4.00	\$12,000.00	\$1.00	\$3,000.00	\$2.00	\$6,000.00
106	710-11-290 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, ISLA	150	SQF	\$9.00	\$1,350.00	\$30.00	\$4,500.00	\$5.00	\$750.00	\$75.00	\$11,250.00
107	710-11-426 PAINTED PAVEMENT MARKINGS, STANDARD, BLUE, SOLID	150	LINF	\$2.00	\$300.00	\$6.00	\$900.00	\$10.00	\$1,500.00		
108	711-11-101 THERMOPLASTIC, STANDARD, WHITE, SOLID, 6"	3,000	LINF	\$3.00	\$9,000.00	\$3.00	\$9,000.00	\$2.50	\$7,500.00	\$5.00	\$750.00 \$6,000.00
109	711-11-102 THERMOPLASTIC, STANDARD, WHITE, SOLID, 8"	150	LINF	\$3.00	\$450.00	\$4.00	\$600.00	\$5.00			
110	711-11-123 THERMOPLASTIC, STANDARD, WHITE, SOLID, 12"	1,300	LINF	\$5.00	\$6,500.00	\$6.00	\$7,800.00	\$4.00	\$750.00	\$2.50	\$375.00
111	711-11-124 THERMOPLASTIC, STANDARD, WHITE, SOLID, 18"	150	LINF	\$7.00	\$1,050.00	\$8.00	\$1,200.00		\$5,200.00	\$4.00	\$5,200.00
112	711-11-125 THERMOPLASTIC, STANDARD, WHITE, SOLID, 24"	3,000	LINF	\$9.00	\$27,000.00	\$10.00	\$30,000.00	\$5.00	\$750.00	\$6.00	\$900.00
113	711-11-131 THERMOPLASTIC, STANDARD, WHITE, SKIP, 10-30 OR 3-	3,000	LINF	\$3.00	\$9,000.00	\$6.00	\$18,000.00	\$6.00	\$18,000.00	\$9.00	\$27,000.00

114	711-11-160 THERMOPLASTIC, STANDARD, WHITE, MESSAGE OR SYMBOL	5	EA	\$428.00	\$2,140.00	\$200.00	\$1,000.00	4500.00		T	
115	711-11-170 THERMOPLASTIC, STANDARD, WHITE, ARROWS	40	EA	\$317.00		- 		\$599.00	\$2,995.00	\$900.00	\$4,500.0
116	711-11-201 THERMOPLASTIC, STANDARD, YELLOW, SOLID, 6"		 		\$12,680.00	\$250.00	\$10,000.00	\$150.00	\$6,000.00	\$900.00	\$36,000.
		3,500	LINF	\$3.00	\$10,500.00	\$3.00	\$10,500.00	\$2.50	\$8,750.00	\$2.00	\$7,000.0
117	711-11-202 THERMOPLASTIC, STANDARD, YELLOW, SOLID, 8"	150	LINF	\$3.00	\$450.00	\$4.00	\$600.00	\$5.00	\$750.00	\$4.00	\$600.0
118	711-11-203 THERMOPLASTIC, STANDARD, YELLOW, SOLID, 12"	600	LINF	\$5.00	\$3,000.00	\$6.00	\$3,600.00	\$4.00	· · · · · · · · · · · · · · · · · · ·	+	
119	711-11-224 THERMOPLASTIC, STANDARD, YELLOW, SOLID, 18"	150	LINF	\$7.00	\$1,050.00	\$8.00		+	\$2,400.00	\$9.00	\$5,400.0
120	711-11-225 THERMOPLASTIC, STANDARD, YELLOW, SOLID, 24"	1,500	LINE	\$9.00		-	\$1,200.00	\$5.00	\$750.00	\$6.00	\$900.0
121	711-11-231 THERMOPLASTIC, STANDARD, YELLOW, SKIP, 10-30 OR 3		,	\$3.00	\$13,500.00	\$8.00	\$12,000.00	\$7.00	\$10,500.00	\$6.00	\$9,000.0
122		3,000	LINF	\$3.00	\$9,000.00	\$6.00	\$18,000.00	\$2.00	\$6,000.00	\$3.00	\$9,000.0
122	711-11-421 THERMOPLASTIC, STANDARD, BLUE, SOLID, 6"	150	LINF	\$3.00	\$450.00	\$6.00	\$900.00	\$8.59	\$1,288.50	\$15.00	\$2,250.
123	711-11-160 THERMOPLASTIC, PREFORMED, WHITE, MESSAGE	5	EA	\$1,266.00	\$6,330.00	\$200.00	\$1,000.00	\$599.00	\$2,995.00	\$1,500.00	\$7,500.
124	711-14-170 THERMOPLASTIC, PREFORMED, WHITE, ARROW	5	EA	\$633.00	\$3,165.00	\$250.00	\$1,250.00	\$500.00		 - 	
	TOTAL BID AMOU			<u> </u>		+ + + + + + + + + + + + + + + + + + + +	71,230.00	\$500.00	\$2,500.00	\$1,500.00	\$7,500. ———
M 8 44-		151 181 5 0 1 1 1 1 1			\$4,071,312.00		\$3,235,375.00		\$2,708,866.47		\$4,668,25
125	SUPERVISOR LABOR RATE	Made of the		LABOR AND	EQUIPMENT	The second second		The state of the s	The same of the same		211
126	SOFERVISOR CABOR RATE	1 1						2 1 100 6 0 0 0			
	FOREMAN LABOR DATE		HR	\$267.00	\$267.00	\$120.00	\$120.00	\$250.00	£250.00	1 00.00	A
	FOREMAN LABOR RATE	1	HR	\$267.00 \$155.00	\$267.00 \$155.00	\$120.00 \$100.00	\$120.00 \$100.00	\$250.00	\$250.00	\$75.00	
127	LABORER LABOR RATE					\$100.00	\$100.00	\$150.00	\$150.00	\$50.00	\$50.00
127	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE	1	HR	\$155.00	\$155.00 \$68.00	\$100.00 \$50.00	\$100.00 \$50.00	\$150.00 \$60.00	\$150.00 \$60.00	\$50.00 \$35.00	\$50.00 \$35.00
127 128 129	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE DRIVER LABOR RATE	1 1	HR HR	\$155.00 \$68.00	\$155.00	\$100.00 \$50.00 \$75.00	\$100.00 \$50.00 \$75.00	\$150.00 \$60.00 \$100.00	\$150.00 \$60.00 \$100.00	\$50.00 \$35.00 \$45.00	\$50.00 \$35.00 \$45.00
127 128 129 130	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE DRIVER LABOR RATE CARPENTER LABOR RATE	1 1 1	HR HR HR	\$155.00 \$68.00 \$106.00	\$155.00 \$68.00 \$106.00 \$78.00	\$100.00 \$50.00 \$75.00 \$70.00	\$100.00 \$50.00 \$75.00 \$70.00	\$150.00 \$60.00 \$100.00 \$75.00	\$150.00 \$60.00 \$100.00 \$75.00	\$50.00 \$35.00 \$45.00 \$30.00	\$50.00 \$35.00 \$45.00 \$30.00
127 128 129 130 131	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE DRIVER LABOR RATE CARPENTER LABOR RATE CONCRETE FINISHER LABOR RATE	1 1 1	HR HR HR	\$155.00 \$68.00 \$106.00 \$78.00	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00
127 128 129 130 131 132	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE DRIVER LABOR RATE CARPENTER LABOR RATE CONCRETE FINISHER LABOR RATE PICK UP TRUCK	1 1 1 1 1	HR HR HR HR	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$35.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00
127 128 129 130 131 132 133	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE DRIVER LABOR RATE CARPENTER LABOR RATE CONCRETE FINISHER LABOR RATE PICK UP TRUCK DUMP TRUCK	1 1 1 1 1 1	HR HR HR HR	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00 \$75.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00 \$75.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$35.00 \$150.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$35.00 \$150.0
127 128 129 130 131 132 133 134	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE DRIVER LABOR RATE CARPENTER LABOR RATE CONCRETE FINISHER LABOR RATE PICK UP TRUCK DUMP TRUCK TRACK HOE	1 1 1 1 1 1 1 1	HR HR HR HR HR	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00 \$75.00 \$150.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00 \$75.00 \$150.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$35.00 \$150.00 \$200.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$35.00 \$200.0
127 128 129 130 131 132 133 134 135	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE DRIVER LABOR RATE CARPENTER LABOR RATE CONCRETE FINISHER LABOR RATE PICK UP TRUCK DUMP TRUCK TRACK HOE LOADER	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	HR HR HR HR HR HR HR	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00 \$410.00	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00 \$120.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$35.00 \$150.00 \$200.00 \$350.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$150.0 \$200.0 \$350.0
127 128 129 130 131 132 133 134 135 136	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE DRIVER LABOR RATE CARPENTER LABOR RATE CONCRETE FINISHER LABOR RATE PICK UP TRUCK DUMP TRUCK TRACK HOE LOADER BOBCAT	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	HR HR HR HR HR HR HR HR	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00 \$410.00	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00 \$410.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00 \$200.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00 \$200.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00 \$120.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00 \$120.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$35.00 \$150.00 \$200.00 \$350.00	\$50.0 \$35.0 \$45.0 \$30.0 \$35.0 \$35.0 \$150.0 \$350.0 \$350.0
127 128 129 130 131 132 133 134 135 136	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE DRIVER LABOR RATE CARPENTER LABOR RATE CONCRETE FINISHER LABOR RATE PICK UP TRUCK DUMP TRUCK TRACK HOE LOADER BOBCAT STREET BROOM SWEEPER	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	HR	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00 \$410.00 \$90.00	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00 \$410.00 \$90.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00 \$200.00 \$150.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00 \$200.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00 \$120.00 \$120.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00 \$120.00 \$120.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$35.00 \$150.00 \$200.00 \$35.00 \$200.00 \$350.00	\$50.0 \$35.0 \$45.0 \$30.0 \$35.0 \$35.0 \$150.0 \$350.0 \$350.0
127 128 129 130 131 132 133 134 135 136 137	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE DRIVER LABOR RATE CARPENTER LABOR RATE CONCRETE FINISHER LABOR RATE PICK UP TRUCK DUMP TRUCK TRACK HOE LOADER BOBCAT STREET BROOM SWEEPER WATER TRUCK	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	HR	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00 \$410.00 \$90.00 \$50.00	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00 \$410.00 \$100.00 \$90.00	\$100.00 \$50.00 \$75.00 \$75.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00 \$150.00 \$225.00 \$225.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00 \$150.00 \$225.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00 \$120.00 \$120.00 \$120.00 \$200.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00 \$120.00 \$120.00 \$120.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$35.00 \$150.00 \$200.00 \$350.00	\$50.0 \$35.0 \$45.0 \$30.0 \$35.0 \$35.0 \$200.0 \$350.0 \$350.0
127 128 129 130 131 132 133 134 135 136 137 138	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE DRIVER LABOR RATE CARPENTER LABOR RATE CONCRETE FINISHER LABOR RATE PICK UP TRUCK DUMP TRUCK TRACK HOE LOADER BOBCAT STREET BROOM SWEEPER WATER TRUCK BACKHOE	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	HR	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00 \$410.00 \$90.00 \$50.00	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00 \$410.00 \$100.00 \$90.00 \$75.00	\$100.00 \$50.00 \$75.00 \$75.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00 \$225.00 \$225.00 \$225.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00 \$225.00 \$225.00 \$225.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00 \$120.00 \$120.00 \$120.00 \$200.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00 \$120.00 \$120.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$35.00 \$150.00 \$200.00 \$35.00 \$200.00 \$350.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$150.0 \$200.0 \$350.0 \$350.0 \$350.0
127 128 129 130 131 132 133 134 135 136 137 138 139	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE DRIVER LABOR RATE CARPENTER LABOR RATE CONCRETE FINISHER LABOR RATE PICK UP TRUCK DUMP TRUCK TRACK HOE LOADER BOBCAT STREET BROOM SWEEPER WATER TRUCK BACKHOE ROLLER	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	HR	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00 \$410.00 \$90.00 \$50.00 \$75.00	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00 \$410.00 \$100.00 \$90.00 \$50.00 \$75.00	\$100.00 \$50.00 \$75.00 \$75.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00 \$200.00 \$150.00 \$225.00 \$225.00	\$100.00 \$50.00 \$75.00 \$770.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00 \$225.00 \$225.00 \$225.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00 \$120.00 \$120.00 \$120.00 \$200.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00 \$120.00 \$120.00 \$120.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$35.00 \$150.00 \$200.00 \$350.00 \$350.00 \$350.00 \$350.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$150.00 \$350.00 \$350.00 \$350.00 \$350.00 \$350.00
127 128 129 130 131 132 133 134 135 136 137 138	LABORER LABOR RATE EQUIPMENT OPERATOR LABOR RATE DRIVER LABOR RATE CARPENTER LABOR RATE CONCRETE FINISHER LABOR RATE PICK UP TRUCK DUMP TRUCK TRACK HOE LOADER BOBCAT STREET BROOM SWEEPER WATER TRUCK BACKHOE	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	HR	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00 \$410.00 \$90.00 \$50.00	\$155.00 \$68.00 \$106.00 \$78.00 \$72.00 \$64.00 \$75.00 \$120.00 \$410.00 \$100.00 \$90.00 \$75.00	\$100.00 \$50.00 \$75.00 \$75.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00 \$225.00 \$225.00 \$225.00	\$100.00 \$50.00 \$75.00 \$70.00 \$75.00 \$75.00 \$75.00 \$150.00 \$225.00 \$225.00 \$225.00 \$225.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00 \$120.00 \$120.00 \$120.00 \$200.00	\$150.00 \$60.00 \$100.00 \$75.00 \$75.00 \$80.00 \$75.00 \$100.00 \$120.00 \$120.00 \$120.00 \$200.00	\$50.00 \$35.00 \$45.00 \$30.00 \$35.00 \$35.00 \$150.00 \$200.00 \$350.00 \$350.00 \$350.00 \$350.00 \$350.00	\$75.00 \$50.00 \$35.00 \$45.00 \$35.00 \$35.00 \$35.00 \$350.00 \$350.00 \$350.00 \$350.00 \$350.00 \$350.00

NOTE: This bid tabulation is an indication of prices only and not a determination of the responsive, responsible bidders.

Assigned Progurement Personnel: Michael Angrand

Procurement Personnel Signature

7/31/25

Witness Eduardo Hernandez